Maytag MFR35PCATS 12 - BASE FRAME

O
W

2

%
M

TR

,'l 1)(“ K
il

%

!

i

R R

Maytag Residential Maytag MFR35PCATS Washer Parts Parts Diagram 12 - BASE FRAME
Click on the part number to view part

Original Part Number Replaced By Part Description
001 NLA Not Available FRAME
002 23001297 Clamp, Tub
003 23001298 23002841 Brace, Tub Support
004 23001299 Panel, Support Bracket
005 23001300 Panel, Support Bracket
006 NLA Not Available BRACKET
007 23001302 Bracket
008 23001294 Bolt
009 23001292 Washer
010 23001303 Nut
011 23001205 Bolt
012 23001304 23003765 Bolt M8x35
013 23001305 Bolt M8x25
014 23001266 Nut M8
015 23001306 Nut, Self Locking

016 23001263 Washer


http://www.pwslaundry.com/c-504144-residential-maytag-mfr35pcats-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10404572-maytag-23001297-washer-clamp-tub.html
http://www.pwslaundry.com/i-10404581-maytag-23002841-washer-brace-tub-support.html
http://www.pwslaundry.com/i-10404573-maytag-23001299-washer-panel-support-bracket.html
http://www.pwslaundry.com/i-10404574-maytag-23001300-washer-panel-support-bracket.html
http://www.pwslaundry.com/i-10404575-maytag-23001302-washer-bracket.html
http://www.pwslaundry.com/i-10404576-maytag-23001294-washer-bolt.html
http://www.pwslaundry.com/i-10404577-maytag-23001292-washer-washer.html
http://www.pwslaundry.com/i-10404578-maytag-23001303-washer-nut.html
http://www.pwslaundry.com/i-10401754-maytag-23001205-washer-bolt.html
http://www.pwslaundry.com/i-10404537-maytag-23003765-washer-bolt-m8x35.html
http://www.pwslaundry.com/i-10404579-maytag-23001305-washer-bolt-m8x25.html
http://www.pwslaundry.com/i-10401755-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-10401530-maytag-23001306-washer-nut-self-locking.html
http://www.pwslaundry.com/i-10404152-maytag-23001263-washer-washer.html

017 23001203 Washer

019 23001307 23002462 Screw Lu

021 23001309 Washer Lu

023 23001028 23002756 Lockwasher

025 23001034 Not Available NUT (M6)

027 23001159 Washer Lu


http://www.pwslaundry.com/i-10401768-maytag-23001203-washer-washer.html
http://www.pwslaundry.com/i-10401756-maytag-23001265-washer-washer.html
http://www.pwslaundry.com/i-10401765-maytag-23002462-washer-screw-lu.html
http://www.pwslaundry.com/i-10406365-maytag-23001308-washer-hardware-grounding.html
http://www.pwslaundry.com/i-10401757-maytag-23001309-washer-washer-lu.html
http://www.pwslaundry.com/i-10404081-maytag-23001027-washer-washer.html
http://www.pwslaundry.com/i-10401532-maytag-23002756-washer-lockwasher.html
http://www.pwslaundry.com/i-10401760-maytag-23001310-washer-nut-self-locking.html
http://www.pwslaundry.com/i-10404138-maytag-23001157-washer-bolt.html
http://www.pwslaundry.com/i-10401767-maytag-23001159-washer-washer-lu.html

	Maytag MFR35PCATS 12 - BASE FRAME

